G [ 67B0 hex nut

%y u@@@@??‘i’?

M 4*30 screw
M 4.2%32 cross screw

M 4.2%19 cross screw
M 5710 screw

M & hex nut

M & underring

M 6 underring

M 5 hex nut

M 4 hex nut

M E"W19 \V Sguare Bolt

40mm LNBF Clamb

2
1

’

2
4
6
8
2
4
1

2

1

—




